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Time: 30 Minutes  |Paper G.Scince 4th (T-6) Total Marks: 25 (a)| Electric circuit -”f;’ J/b'g I |(b)| Hydric circuit ."// Ji’%
4th Month, 2nd Week, 6th Day Test and Revisiovrvleiillabus of the 2nd (c)| Potential circuit &;fﬂ (d)[ Voltage circuit E /5 ) '
. (x) Ideal distance of reflecting surface should be: :%.lgtﬁ.li 6 Ki’.ﬂ?"/

SECTION 1

a)[17 meters 4 17|(b)|15 meters A~ 15|(c)|10 meters 4 10|(d)|[14 meters ~ 14
Q.No.1. Encircle the correct answers from the following choices. (10 x 1 =10) @ ®) © @

s . Z SECTION 11
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. . L. Q.No.1 Write the short answers. (6x2=12) _u:,,ﬁ ;’A’ﬁ/‘?
(i) Which of the following is not a form of energy? .
?‘Luj;(:"!(ﬁ/"(fdfétﬂtjj@ﬂ (i) How sound is produced? ?+dﬂ14g.d~3l:l
(a)|Light Gﬁu (b)|Sound 317|(c)|Water &L (d)|Heat 7 (ii) Why does the hot tea become cold after some time?

e Qlerud She e oL ik,

(ii) How many colours are present in sunlight? S ¢ Ln..f/zufu;u‘f Gy
(iii) What happened when the bulb of thermometer touches a hot objects?

(a) 2 (b) 3 (© 5 (d) 7 SRS S S Bl
(iii) If you take your hand near to the lighted lamp than to the wall, the (iv) Define electric circuit. - yi 3 /‘IJ ‘_,/9, J/b,g,
shadow of your hand: s . . . . - (v) Into which two forms, the elecrical energy is transformed in a
i 28 ’Lb‘{'./”&jégij&’z"!‘/}m’v Vi television? ?%aﬂdiwdﬁb)dd:@ﬂﬁﬂ? 'U:L')?:tg
(@) [will not form gc.u.?( (B)| will be smaller ?c. iad (iv) If sound cannot travel through space, how do the astronauts talk coith
(c) [will be bigger g’@"’/, (d)[will be of the same size g'@dt’fzui each other? ?UZL/(%‘?:QQd”/UfU{:TJQUé;GﬁUz}Q—UfU‘;ﬂ!Tﬁ
(iv)Electrical energy can be transformed into: ‘Lcﬁblﬂf“ Ef(ﬁ)lﬂ}g I
(a)| heat (<el7 |(b)|light u.'fGﬁu (¢)|sound 2T |(d)|all of these 2 Q.No.1 Sidra has a reflector in her torch. There is no reflector in the torch of
(v) We usually use which unit to measure temperature? Ali. Which torch will throw more light on a wall at 5-meter distance? (3)
V4 L/UW'&ZVU!Q—LJJ' ‘E;J&/V..wgu”(l&ﬂ Gﬁuu}:){/lgfuu/’{ ék@/lﬁVu}c‘gujuféjﬁédﬁﬁl‘L(Reﬂector) /‘P AT AP
(2) °F (b) °C () K (d) R Y-~ 7
(vi) Which unit describe the condition of weather??‘gt‘/@.lzzi/&lagf(‘rdgvuf . Ali's torch Bt J d; . Sidra's torch &t JD e
(a) K (b) °C (©) °F (d)|Botha&b Ussbuslal

(vii) When bulb touches a cold object then mercury.
— e 6/’}/0.{;‘40{[%&};*1:?’.
(@)|Expand G |(b)|Contract (2| (c)|Remain sameis#_](d)None # e Lt

_

(viii) In heater the electrical energy changes into:
e Qe #E AL 21
(a)|Light U< (3:3/ (b)[Heat Uezz|(©)|Sound U~ k3L-|(d)| All of theserl}:/

(ix) The path of current is called: :‘at'lk'/:’butaty}’/c.&bu%&/




